
1. To find the major diameter of the external thread  
𝐷௖: diameter of cylinder    (known) 
𝑅௖: reading of micrometer over the cylinder  (measured value) 
𝐷௧௛: diameter of the thread    (unknown) 
𝑅௧௛: reading of micrometer over  the thread  (measured value) 
 
(𝑅௧௛ − 𝐷௧௛ = 𝑅௖ − 𝐷௖)  or  (𝑅௧௛ − 𝑅௖ = 𝐷௧௛ − 𝐷௖) 
After rearrange the formula  
∴ 𝑚𝑎𝑗𝑜𝑟𝐷௧௛ = 𝐷௖ + (𝑅௧௛ − 𝑅௖)    
 

2. To find the Minor  diameterof an external thread  
∴ 𝑚𝑖𝑛𝑜𝑟𝐷௧௛ = 𝐷௖ + (𝑅௧௛(௣௥௜௦௠) − 𝑅௖(௣௥௜௦௠))    

 
3. To find the effective diameter𝐸ௗ of the external thread (using the three wires method) 

For the distance T    
𝑇  = 𝐷௖ + (𝑅௧௛(௪௜௥௘) − 𝑅௖(௪௜௥௘))    

𝐸ௗ = 𝑇 + 2𝑥 

Where 2𝑥 =
௉

ଶ
cot 𝜃 − 𝑑(𝑐𝑜𝑠𝑒𝑐 𝜃 − 1) 

(𝑑: 𝑑𝑖𝑎𝑚𝑒𝑡𝑒𝑟 𝑜𝑓 𝑡ℎ𝑒 𝑤𝑖𝑟𝑒 ) 

The proof for (𝐸ௗ  = 𝑇 + 2𝑥) is  

 


